Measuring the size of a business
There are a various number of aspects that a business considers while it undergoes any activities; and one of the main of these aspects is measuring the size of a business. For many reasons it is very important for the business to know its size. For example, the government might give assistance to ‘small’ firms, so it can worthwhile for the business to have knowledge about its size.

Many people consider a business being ‘big’ by just seeing the external size of the workplace. But this is not correct. This is because that business might be using labour-intensive production, that is, it mostly employs workers to carry out production. This can make the production process slow, and therefore less productivity. On the other hand, an ‘externally small workplace’ might be using the capital-intensive production, that is, most of the production is carries out by machines. This can make the work a lot easier, quicker and efficient, and therefore, an increased productivity level. So in this way, the second business is bigger than the first one. So the external size of the firm is no the only way to measure the size. Another problem is that there is no internationally agreed definition of what a small, medium or large business is. 
So just for the satisfaction of the business, it can make use of various other tools to measure the size. Some of them are explained below.

· Sales turnover
Sales turnover (Sales revenue) is the money that you get from the sale of products. The costs of sales have not been deducted from this. 

This can be a good way to compare the business in the same industry, for example Batelco and MTC-Vodafone. These both are operating in providing telecommunicating services to the public. These both firms use almost the same strategies and techniques so comparing the sales revenue can be very realistic.

Using this method to compare businesses in different industries can be less effective, for example, comparing Super Laundry, which provides services like dry cleaning which is a low-value production, with Asia- Jewelers, that deals with ‘high-value’ production. These two businesses are completely different, so comparing their results is not the best way to know about the size.
· Number of employees
This is one of the simplest measures to know about the size of the firm. It is simple because, a business with just the owner and family obviously shows that the business is small, where on the other hand, a business which employs workers is big, since labour is not a cheap factor of production, and the most important asset to the business! 

But this may not always be the case. Taking for example, a firm, Akram Shoes, which makes and sells shoes employs 100 workers and is able to make 100 pairs of shoes in two days without being automated – using machinery. Rahim Shoes, which is totally automated, employs only 10 workers and is able to make 100 pairs of shoes in one day. 
So, the employees may not be the best way to measure the size of a business.

· Capital employed
Capital employed by a business may and can vary depending in the size of the business. A small business will need less capital to finance its investment, whereas, a large business enterprise will need a lot of capital to plan and finance the investments. This can be because large business has a lot of departments such as Surveying, Research and Development etc. and this will require a lot of money to finance all the expenses.
Here again, the comparison can only be realistic only if the businesses being compared are operating in the same industry. Since different businesses have different costs and objectives. It is not possible to compare a business that operates in diamonds, with one that operates in selling household stuff.
· Market capitalisation
Market capitalisation is only possible for firms that can issue their shares on the ‘Stock Exchange’, i.e., Public Limited Companies. The formula to calculate this is:

Market capitalisation = current share prices   X   total number of shares issued  
This method is not very stable because share prices change everyday. For example, a temporary but sharp drop in the value of the share might suggest the business being very ‘small’ which in reality it wouldn’t be.

· Market Share
The market share can be considered as the business’s control over the customers. If the business has a greater market share, it might be because of good quality of products, or the brand image, brand loyalty etc. Once the firm is successful in obtaining a good market share, it should be able to maintain the good service it provides.

Market share can be calculated by:

Total sales of business        X   100
Total sales of industry
However, a business can only be considered large if the total size of the market if large. If the market itself is small, then a greater market share may not be sufficient to indicate the business as being big.

Which form of measurement is the best?

In reality, no one measure is the ‘best’. It depends on what needs are to be established about the firm. The business might be going either for comparative size or absolute size. If the firm is going for absolute size, then at least any two of the above criteria should be considered.

